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Tourism Studies (BTS, DTS) 

Term-End Examination 

June, 2024 

TS-5 : ECOLOGY, ENVIRONMENT AND TOURISM 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer any five questions in about 600 

words each. All questions carry equal marks. 

1. What do you understand by the term 

„Environment‟ ? Explain the type of changes 

that take place in the environment with the 

passage of time. 20 

2. Discuss the major terrestrial biomes and 

aquatic biomes of the world. 20 

3. Trace the history of environmental 

conservation in modern times. Explain 

important elements of the Indian philosophical 

views on environment. 20 
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4. “Environment and Tourism have a complex 

interaction between them.” Explain and 

elaborate this statement. 20 

5. Discuss the issues of access, landuse and 

infrastructure in the specific context of hill 

resorts and coastal areas. 20 

6. What do you understand by conservation and 

how is it related to tourism ? For the proper 

application of the conservation concept, discuss 

factors which should be considered while 

formulating tourism development plans and 

policies.   20 

7. Write short notes on the following in about  

300 words each : 2×10=20 

(a) Pressures on the environment of a 

destination due to tourism 

(b) Major environmental thresholds 

8. What are wetlands and what is their 

significance ? Discuss how tourism is developed 

on wetlands in Indian and also the various 

efforts taken up to minimise the negative 

impacts.   20 
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9. Describe with relevant examples how visitors‟ 

behaviour influence and impact the 

environment of a destination. 20 

10. Write short notes on the following in about  

150 words each : 5×4=20 

(a) Food Chain and Food Web 

(b) Classification of Islands 

(c) Problems of Unplanned Tourism 

(d) Van Mukhiya Scheme 
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